
DU-PH-0050-84 Rev A 6/10/13 GCX Corp. Page 1 of 6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3875 Cypress Drive Petaluma, CA 94954 800.228.2555 707.773.1100 Fax 707.773.1180 www.gcx.com 

GCX European Office +31(0) 88 627 2600 Fax +31 (0) 88 627 2609 

Installation Guide 
HeartStart MRx Ambulance Wall Mount 

(1) T15 Wrench 

(1) MRX Mount (1) Lower Mount Batt/Batt 

(1) Lower Mount AC/Batt 

(1) Upper Mount  

(4) M6 Nut (4) M6 Flat Washer (4) M6 x 35mm SHCS 

(1) M4 x 10mm PHMS 
Torx 

(3) M4 x 16mm PHMS 
Torx 

(2) M4 x 12mm PHMS 
Torx 

(1) M5 Hex Wrench 

http://www.gcx.com/


DU-PH-0050-84 Rev A 6/10/13 GCX Corp. Page 2 of 6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Wall 

M5 Hex Wrench 

(4) M6 x 35mm SHCS 

7.77” (197.39mm) 

3.5” (88.9mm) 

X4 

5/16” (8mm) 

X4 

(4) Flat Washer 

(4) M6 Nut 

X4 



DU-PH-0050-84 Rev A 6/10/13 GCX Corp. Page 3 of 6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Batt/Batt 

M3538A M3538A 

(2X) M4 x 12mm PHMS-Torx 

(2X) M4 x 16mm PHMS-Torx 

2 1 

(2X) M4 x 12mm PHMS-Torx 

(2X) M4 x 16mm PHMS-Torx 

3 

T15 

T15 



DU-PH-0050-84 Rev A 6/10/13 GCX Corp. Page 4 of 6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

AC/Batt 

M3539A M3538A 

(2X) M4 x 12mm PHMS-Torx 

M4 x 16 
M4 x 10 

M4 x 12 

(2X) M4 x 12mm PHMS-Torx 

(1X) M4 x 10mm PHMS-Torx 

(1X) M4 x 16mm PHMS-Torx 

(1X) M4 x 10mm PHMS-Torx 

(1X) M4 x 16mm PHMS-Torx 

1 

T15 

T15 

2 



DU-PH-0050-84 Rev A 6/10/13 GCX Corp. Page 5 of 6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



DU-PH-0050-84 Rev A 6/10/13 GCX Corp. Page 6 of 6 

 

 

 

 

 

 

 

 

 

Monthly Monthly 


